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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
’ 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
s 1.00]0.00 ~ 6.55 82.59| #hLls |0.00 ~ 6.55| 1.66 8.40 Lo 1.00] 5.00 ~ 8.00 82.59| =nLst | 500 ~ 8.00| 1.66 8.40]
9 100kN/mM##B %% 1.00{ 0.00 ~ 048 107.17| 3m%*x#BZ 5 = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.67 ~ 12.00 107.17| 3m%#BZ % =l ~ = = =
s 1.00] 048 ~ 8.27 100.00f Z=h 4t |0.00 ~ 8.27| 2.27 11.50 Lo 1.00] 5.00 ~ 10.67 100.00| Z=hLis | 500 ~ 12.00f 227 11.50]
3 100kN/mM##8 %% 1.00{ 0.00 ~ 227 135.35|3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.54 ~ 20.00 135.35| 3m#%#BZ % =l ~ = = =
s 1.00] 2.27 ~ 10.06 100.00f Z=h L4t | 0.00 ~ 10.06] 2.68 13.53 Lo 1.00] 5.00 ~ 10.54 100.00| =hList | 500 ~ 20.00| 2.68 13.53
4 100kN/mM##8 %% 1.00{0.00 ~ 292 146.32| 3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.62 ~ 28.00 146.32| 3m#%#BZ % =l ~ = = =
s 1.00]2.92 ~ 10.71 100.00f Z=h st |0.00 ~ 10.71] 2.96 14.96 s 1.00] 5.00 ~ 10.62 100.00| Z=hList | 500 ~ 28.00| 296 14.96
5 100kN/m##8 %% 1.00{0.00 ~ 233 136.42| 3m%x %% = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.53 ~ 20.36 136.42| 3m%#BZ % =l ~ = = =
s 1.00]2.33 ~ 10.12 100.00f Z=h st |0.00 ~ 10.12] 2.69 13.58 s 1.00] 5.00 ~ 10.53 100.00| =hList | 500 ~ 20.36] 2.69 13.58
6 100kN/m##8 %% 1.00{0.00 ~ 1.86 128.70| 3m%*#BZ % = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.61 ~ 17.89 128.70| 3m%#BZ % =l ~ = = =
L 1.00]1.86 ~ 9.65 100.00f Z=h st 10.00 ~ 9.65| 2.31 11.67 Lo 1.00] 5.00 ~ 10.61 100.00f Z=hList | 500 ~ 17.89| 2.31 11.67
7 100kN/m##B %% 1.00{0.00 ~ 1.18 117.80| 3m%*x#BZx % = Kad = = —| 100kN/mM%Z#BZ % 1.00] 10.68 ~ 14.67 117.80| 3m%#BZ % =l ~ = = =
Lt 1.00{1.18 ~ 8.96 100.00f Zh A4t 1000 ~ 896 2.11 10.65 st 1.00] 5.00 ~ 10.68 100.00f =nlist | 500 ~ 1467 2.11 10.65
g 100kN/MZ#8 2 % -l -~ = -|3m%EiHBZ % -~ = = —| 100kN/m%#BZ % = -~ = - 3m%iBx 5 o ~ = = =
Zh st 1.00/0.00 ~ 6.54 82.37| =nLlst |000 ~ 654| 1.86 9.40 st 1.00] 5.00 ~ 8.00 82.37| =nkist | 500 ~ 8.00| 1.86 9.40]
9 100kN/MZ#8 2 % -l -~ = -|3m%EiHEZ % -~ = = —| 100kN/m%#BZ % = -~ = - 3m%iBx 5 o ~ = = =
st 1.00{0.00 ~ 5.65 70.56| =Ll 000 ~ 565 1.98 10.03 st 1.00] 500 ~ 7.05 70.56( =nst | 500 ~ 7.05 1.98 10.03
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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